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Four choicesaregiven for each of thefollowing questions/incomplete statements.
Choose the correct answer among them and shade the correct option in the
OMR sheet given to you with a black / blue ball point pen. [40 x 1 = 40]

8l) ooy neeFoRhognTe TIWE JSCHR, TRONTT WOND
A) QETT-N-eT (J2R) B) 30w A@FT
C) TR T D) &.0%.0¢°
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Networks in which all computers have an equal status are
A)  Peer-to - Peer (P2P) B) Clientserver
C) Diaup D) DSL

Ans (A)  Peer-to - Peer (P2P)

82) ZPomFoydomn, FENT Ol [PFONTR, TRORTLE NEIBOLoZ WEBTOR
B0 SRR DTIRRYTURNT

A)  3Te3eoROD TRWEDI B) T BowFod
C) 3 I=3 D) &z303m

QO3 : (A) IRFOROD WF O

Sound sentry is designed to help users of computers with
A)  Auditory impairments B) Visua impairment
C) Handtremors D) Dydexia

Ans (A)  Auditory impairments

83) B ENSYNEY BRI IFeo TS [N 0IOZTY?
A) neRe T B) oSozne! S ok
C) o0&y Lweeer D) «F 38 o
WET : (D) 2% 8B, o
Which one of the following is NOT an instant messaging softwar €?
A) Google Tak B) Yahoo! Messenger
C) Rediff BOL D) SQL

Ans (D) SQL
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84) &= ey SeeHd OoLE, YOTCARLNTLY AR WERReHT ok,

A) ©TT Mg B) ©33 59

C) 30 wey D) =8, SFosuns wey

Q3T : (B) ©38 O

The option that is to be selected for using Times New Roman styleis
A) Fontsize B) Font style/ Font face

C) Font colour D) Texthighlight colour

Ans (B)  Font style/ Font face

85) 0w IWHORTrich TIEewh, e JRICOIDN T3y TeOrTOLTTON B
WEROTR U

A)

3de

SollCa B) %7 were
C) Puo°© o D) mow w&'e

QO3 : (A) 3T sEF

The images used for making a word document more presentable and
colourful are

A) ClipArt B) FineArt
C) HowerArt D) SandArt
Ans (A)  ClipArt

86) e.-soSa& RHRRZROBTT m%d BRTY I IRTO @gdda‘n& cS.raré e.—ogdwmdh
TOWSFT/ YOO e.-soﬁaé

A) Teg ©3T B) o3 mzceo
C) one® dexf D) 3 22Tw000

QST : (B) w98 Ipdeo
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The option available for converting first character in the first word of
selected sentence into capital letter is

A) UPPER CASE B) SENTENCE CASE
C) TOGGLE CASE D) CHANGE CASE
Ans. (B) SENTENCE CASE

87) =oho w3 s (Default tab) m@ﬁ

A) 06" B) 0.7"
C) 04" D) 05"
2033 : (D) 05"

Default tab stop position is

A) 06" B) 0.7
C) 04" D) 0.5"
Ans (D) 0.5

88) &Twedesd w0dckn BRT R WRONY VINT?
A)  BReRT B) =
C) aFRers D) o=
@20 : (C) v mews
Header option is available under which tab?
A) Home B) View
C) Insert D) Review

Ans (C)  Insert
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89) TeIRo3TW wEpEE AT

A) g B) =3
C) dwews D) w@moe
WIT : (A) IE

The graphical representation of data is

A) Chart B) Text

C) Table D) Row

Ans (A)  Chart

90) =Rty BoBRTR, WwE THTY wecRIC: WERBTT GOk,
A)  mEE B) oohe
C) 39 D) &8
QB0 : (A) mEFE

The option to be used for arranging hundred numbersin descending order

IS
A)  Sort B) Task
C) Sle D) Note

Ans (A)  Sort

91) 3 FNTIJINYY BRI FFcH Wo3TY?
A)  SeRow® B) ©20033 0mdned
C) & Ie3 D) &0 ZIe3

@033 : (D) ot TPe3
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Which of the following is NOT a chart element?
A) Legend B) Datapoints
C) PlotArea D) PrintArea

Ans (D)  PrintArea

SINSINYY CRRTRH, LRWDH TBeITY FeoT WHDY?
A)  HWT F0, B) Q&cdee

C) 83 D) Sead3s IJH

WET : (B) DRciee

Which of the following items cannot be added to footer area?
A) Pagenumber B) Video

C) Image D) Name of the author
Ans (B) Video

TARREBT GO TJPeINER, [T Ve DeF T WCHATS AR WEHNTTT
03
3

A) e SefeE B) o AT
C) RFe” Fy D) 330 JIpx

I3 : (D) 3T0 I

The option you make use of to view selected areas of word document is
A) Pagelayout B) Full screen

C) Normal view D) Custom views

Ans (D)  Customviews
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94) ow DIV TYORY, WEBTL WF emtgmemez W8 TR/ T’
esc:Saﬁosmaol WEREeRD B3 esoS:&oS:o @255;36;5 oI

A) B o B) g, o
C) Qodwex® noT D) =t & QOT' MO

G0IT : (A) B THOT

To hidearow or a column in a spreadsheet, format option should be used,
this option is available under the group.

A) Cédlsgroup B) Illustrationsgroup
C) Windows group D) Sort and filter group
Ans. (A)  Cellsgroup

95) 303 TREHY WEdeeTT® e:soS:&ﬁ TOWORATOZ BOSHT IewF
A) A 33N @@571@553& RRE WY BTRWET
B) o 3pe3neQs SRPORYI, CRFHe AT WYRE 3T
C) 2 3ReINIYT m%@émmol N0F TTY WEReRISTI
D) b 3Re3NeYS SRPoMTm, a9t FHTY BRRTIT
NI : (B) amd BRBNYYS IPORIR, cImBe AT, LIRS BRBIH
The correct statement with respect to Autosum option in spreadsheet is
A) Itaddsvauesin cellsusing formula
B) Itaddsvaluesin cellswithout using formula
C) Itarrangesvauesin cellsin Ascending order
D) Itarangesvaluesincellsin Descending order

Ans (B) It adds valuesin cellswithout using formula
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96) TF FoRTro IoTWEBRY, IT YEFF VPADBT Mo

A) ez B) Ier@TT & TRwT
C) AYIRT, D) aower

In word processing software, clip art is available under the group.

A) Pages B) Header and Footer
C) llustrations D) Symbols
Ans (C)  lllustrations

97) THRWITY TIWNE, F0URT TIRWR, V-[yCT SRR BeonT
LVOETNTVTH WEOTWT

A) TTIIIT MOF IRPOIRMOITT
B) TmREexdas foEnee’ wuCengs
C) TRIRIT MWE, WTRMPOY

D) Tmesledds mog &z

@080 : (D) TRYEedNs Mg Huwspndgs

When you embedded the objects in a document, you may have trouble for
emailing because,

A) The size of document decreases

B) Theformat of document changes
C) Thesize of document remains same
D) Thesize of document increases

Ans (D)  Thesize of document increases
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98) T30L TR, [N, TeRTURTY WEHIHRT S0l

A) TROT B B) &% &
C) 3= so-d D) sher e

WET : (B) B I

The option to be used to print only the text part of the presentation is
A) Handouts B) Ouitline

C) Slides per page D) Full screen

Ans (B)  Outline

99) oW DO TeEohY, WeTE GOk, VPIILE B
A)  Sefser B) Tweems
C) T@Bewwd D) &
WET : (A) Seler
In a spreadsheet, the breaks option is available under the tab.
A) Layout B) Home
C) Daa D) View
Ans (A)  Layout

100) éésmﬂézse epEaeliog esoﬁ%oaoocs PR, e;soS:é m@a@e;%@waocs, SPEY)
A) DTRD, TTOTRITWNFW T
B) Sedmo3odm, BNFesORLTIT
C) JeDTIODT, TNQFLIIW
D) =B85 %I & wemmy, WiBeeeidRzmIT
QBT : (B) [enTI0NT, WNF ORI
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By selecting a colour from categorize dropdown list, we can
A) Highlight thetext
B)  Categorize an appointment
C)  Printanappointment
D) Change background colour of text

Ans (B) Categorize an appoi ntment

101) 20w OSeqTSF cietzoeden® SPFeWFROET AFIFRY T3P I SRITQ

FoFeIZTONTHIW
A)  OTILINW B) sowzmoeonsd
C) BweemEned D) deww nisd

2033 : (C) BpeTEned

In arelational database management system, data is organized in the form

of
A) Rows B) Columns
C) Tables D) Datatypes

Ans (C) Tables

102) 81 $SNSYRIY BRYT IRFHOFE Betw WTN AFTY?
A)  ooher B) %o
C) FHreew D) ©@wer
@80 : (B) 50
Which of the following is NOT a numeric data type?
A) REAL B) CHAR
C) FLOAT D) DOUBLE
Ans. (B) CHAR
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103) 3: WNSYRLY SRR Bt TERIBT R BeYITON?

A) ©oT B) o&eF

C) &z D) Zd7,

Y33 : (A) BT

Which of the following is a data definition language statement?
A) ALTER B) EDIT

C) OPEN D) SELECT

Ans (A) ALTER

104) 2w, Sewdod weF QRN
A) [Tt DI BT &)
-0 Q@
B) Ak @B 0T DBRMCRTT

C) m H L) oSewze

i

D) Getowds® 02y deeveded”

VT @ (A) HeT" WD) BTT® &)

The optional clauses of select statement are
A) WHERE and ORDER BY

B)  Procedural and Non procedural

C) Fatfileand Relational

D) Datatype and Database

Ans. (A) WHERE and ORDER BY
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105) =m3ong SOSIraonm, Fe0Rw WEHLeRT &9’

> 2
A) RS B) @I
C) ADeRT D) ZXotdews

20 : (C) LRABRT,

Thetab to be used to insert a transition to your presentation is
A) Trangtion B) Duration

C) Animations D) Presentation

Ans (C)  Animations

106) 83 FNIZYNIY WOt [FTIFONTS WDIROTY

A) T=R03 Tows B) ©303003 0233

C) ©o3ore T3 :OWs D) moodrmed 088
o33 : (D) woHFme T

One among the following is NOT an advantage of networking
A) Datasharing B) Hardwaresharing

C) Internet accesssharing D) Worksheet sharing
Ans (D)  Worksheet sharing

107) 305 XSHRTR, wedRoR ARFT TTYoIRT, Bed Itohes WIS ol
A) TwFEE B) oo
C)
@33 : (B) oo

2

el

& D) oo

The option used to extract a particular data using some conditionsis
A) Sort B) Filter

C) Syle D) Font

Ans (B) Filter
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108) 39nS 035 WEFF ROFOBIRY TPYRY DTS TR0, ROBIE

A)  DOS® wWEFr B) & wotre

C) OIF HEFE D) wo0° wowrs

QU0 : (A) DOCIW WLFE

The following chart that shows the importance of values over time is
A) Areachart B) Piechart

C) Columnchart D) Barchart

Ans (A)  Areachart

109) wom T 30RQ, e @O, VPILT &’
A)  RET B) Tweemr
C) = D) «asRere
o33 : (D) wTmers
In a presentation, table option is available under the tab.
A) Dedgn B) Home
C) View D) Insert

Ans (D)  Insert

110) :Gomc® B0z03TY il Nowd3 De3Hne Toss
2 ) 3

A) 2 B) 1
c) 3 D) 5
w33 : (C) 3
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The number of views supported by a calendaring software are

A) 2 B) 1
c) 3 D) 5
Ans (C) 3

111) cietzo e IQTLE ToLSRTR, SRTERIL WIBRMHE Dewd
A)  adeex B) ewdewr
C) ox=wr D) woo
w30 : (C) gzzwrs
The statement used for modifying records in a database.
A) DELETE B) UPDATE
C) INSERT D) ALTER

Ans (C)  INSERT

112) Beefs 2,000 OBTOR, LSS WS 3¢
A) TOT 3¢ B) s 3
C) B0 ¢ D) Zdowd 3¢
3T : (C) B0 8¢
The unique key that identifiesa row in a table.
A) Foreignkey B) Flatfile
C) Primary key D) Secondary key

Ans (C)  Primary key
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113) The underlined word in the sentence is
“"May | help you?
A) Noun B) Voice
C) Modd D) Tense
Ans. (C)  Moda

114) "My friends moved to their native places"
The pronoun in the above sentence is
A) friends B) have
C) moved D) ther

Ans (D) ther

115) Rashmi was happily dancing.
The underlined word in the above sentence is
A)  Noun B) Pronoun
C) Adverb D) Adjective

Ans (C) Adverb

116) While changing from direct speech to reported speech, the following will
change to its past form

A) Verb B) Preposition
C) Noun D) Article

Ans (A) Veb
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120)
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I dentify the past perfect tense of the given sentence.
"Rama is going to cinema"
A) Ramawill gotocinema B) Ramawould go to cinema

C) Ramawill begoingtocinema D) Ramahad goneto cinema

Ans (D) Ramahad goneto cinema

The final course of a meal is called
A) Desert B) Dessert
C) Dinner D) Starters

Ans (B) Dessert

The jeweller's store is right next the bus-stop

The correct preposition to be filled is

A) to B) for
C) over D) a
Ans (A) to

| came to see you you are not well.

The suitable connector/ conjunction to be filled is
A) so B) vet
C) thus D) because

Ans (D)  because

* B M
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